

Bid Tabulation Landscape Maintenance of East Side Rain Gardens

Route	Various
County	Kane
Local Agency	City of Aurora
Section	

3 Bids Received 2/24/16 at 2 p.m.

				En	gineer's Estimate	12	r Fi Yard Service Inc. 275 Golfview St. urora, IL 60506	Encap, Inc. 2585 Wagner Court Dekalb, IL 60115		Integrated Lakes Management 110 LeBaron St. Waukegan, IL 60085	
#	ITEM	UNIT	QUANTITY	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total
	Site 11 Lafayette and Euclid										
11.1	General Maintenance Visit	Each	12	\$80.00	\$960.00	\$126.00	\$1,512.00	\$95.35	\$1,144.20	\$152.25	\$1,827.00
11.2	Hardwood Mulch – Supply and Install	C.Y.	25	\$45.00	\$1,125.00	\$43.00	\$1,075.00	\$75.00	\$1,875.00	\$167.00	\$4,175.00
11.3	Hardwood Mulch – Installation Only	C.Y.	25	\$25.00	\$625.00	\$23.00	\$575.00	\$32.00	\$800.00	\$87.00	\$2,175.00
11.4	Fall Pruning	Lump Sum	1	\$70.00	\$70.00	\$150.00	\$150.00	\$90.81	\$90.81	\$130.50	\$130.50
11.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$50.00	\$50.00	\$108.97	\$108.97	\$238.50	\$238.50
11.6	Preemergent Herbicide	Each	2	\$105.00	\$210.00	\$105.00	\$210.00	\$57.51	\$115.02	\$122.50	\$245.00
	Site 12 Lebanon and Euclid										
12.1	General Maintenance Visit	Each	12	\$40.00	\$480.00	\$83.00	\$996.00	\$56.52	\$678.24	\$130.50	\$1,566.00
12.2	Hardwood Mulch – Supply and Install	C.Y.	14	\$45.00	\$630.00	\$43.00	\$602.00	\$75.00	\$1,050.00	\$167.00	\$2,338.00
12.3	Hardwood Mulch – Installation only	C.Y.	14	\$25.00	\$350.00	\$23.00	\$322.00	\$32.00	\$448.00	\$87.00	\$1,218.00
12.4	Fall Pruning	Lump Sum	1	\$40.00	\$40.00	\$150.00	\$150.00	\$53.83	\$53.83	\$108.75	\$108.75
12.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$25.00	\$25.00	\$64.59	\$64.59	\$198.75	\$198.75
12.6	Preemergent Herbicide	Each	2	\$65.00	\$130.00	\$60.00	\$120.00	\$34.09	\$68.18	\$91.88	\$183.76
	Site 13 Simms and Logan										
13.1	General Maintenance Visit	Each	12	\$42.00	\$504.00	\$83.00	\$996.00	\$67.32	\$807.84	\$130.50	\$1,566.00
13.2	Hardwood Mulch – Supply and Install	C.Y.	17	\$45.00	\$765.00	\$43.00	\$731.00	\$75.00	\$1,275.00	\$167.00	\$2,839.00
13.3	Hardwood Mulch – Installation Only	C.Y.	17	\$25.00	\$425.00	\$23.00	\$391.00	\$32.00	\$544.00	\$87.00	\$1,479.00
13.4	Fall Pruning	Lump Sum	1	\$50.00	\$50.00	\$150.00	\$150.00	\$64.11	\$64.11	\$108.75	\$108.75
13.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$25.00	\$25.00	\$76.94	\$76.94	\$198.75	\$198.75
13.6	Preemergent Herbicide	Each	2	\$75.00	\$150.00	\$70.00	\$140.00	\$40.61	\$81.22	\$91.88	\$183.76
	Site 14 Simms and Concord										
14.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$108.00	\$1,296.00	\$63.86	\$766.32	\$130.50	\$1,566.00
14.2	Hardwood Mulch – Supply and Install	C.Y.	16	\$45.00	\$720.00	\$43.00	\$688.00	\$75.00	\$1,200.00	\$167.00	\$2,672.00
14.3	Hardwood Mulch – Installation Only	C.Y.	16	\$25.00	\$400.00	\$23.00	\$368.00	\$32.00	\$512.00	\$87.00	\$1,392.00
14.4	Fall Pruning	Lump Sum	1	\$50.00	\$50.00	\$150.00	\$150.00	\$60.82	\$60.82	\$108.75	\$108.75
14.5	Imidacloprid Pesticide Treatment	Each	1	\$85.00	\$85.00	\$35.00	\$35.00	\$72.98	\$72.98	\$198.75	\$198.75
14.6	Preemergent Herbicide	Each	2	\$70.00	\$140.00	\$65.00	\$130.00	\$38.52	\$77.04	\$91.88	\$183.76

				Engineer's Estimate		127	Semper Fi Yard Service Inc. 1275 Golfview St. Aurora, IL 60506		Encap, Inc. 2585 Wagner Court Dekalb, IL 60115		Integrated Lakes Management 110 LeBaron St. Waukegan, IL 60085	
#	ITEM	UNIT	QUANTITY	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	
	Site 15 Simms and Douglas											
15.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$103.00	\$1,236.00	\$76.83	\$921.96	\$152.25	\$1,827.00	
15.2	Hardwood Mulch – Supply and Install	C.Y.	19	\$45.00	\$855.00	\$43.00	\$817.00	\$75.00	\$1,425.00	\$167.00	\$3,173.00	
15.3	Hardwood Mulch – Installation Only	C.Y.	19	\$25.00	\$475.00	\$23.00	\$437.00	\$32.00	\$608.00	\$87.00	\$1,653.00	
15.4	Fall Pruning	Lump Sum	1	\$60.00	\$60.00	\$150.00	\$150.00	\$73.17	\$73.17	\$130.50	\$130.50	
15.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$50.00	\$50.00	\$87.80	\$87.80	\$238.50	\$238.50	
15.6	Preemergent Herbicide	Each	2	\$85.00	\$170.00	\$80.00	\$160.00	\$46.34	\$92.68	\$122.50	\$245.00	
	Site 16 Simms and Lebanon	-		•								
16.1	General Maintenance Visit	Each	12	\$95.00	\$1,140.00	\$133.00	\$1,596.00	\$105.31	\$1,263.72	\$152.25	\$1,827.00	
16.2	Hardwood Mulch – Supply and Install	C.Y.	26	\$45.00	\$1,170.00	\$43.00	\$1,118.00	\$75.00	\$1,950.00	\$167.00	\$4,342.00	
16.3	Hardwood Mulch – Installation Only	C.Y.	26	\$25.00	\$650.00	\$23.00	\$598.00	\$32.00	\$832.00	\$87.00	\$2,262.00	
16.4	Fall Pruning	Lump Sum	1	\$75.00	\$75.00	\$150.00	\$150.00	\$100.30	\$100.30	\$130.50	\$130.50	
16.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$60.00	\$60.00	\$120.36	\$120.36	\$238.50	\$238.50	
16.6	Preemergent Herbicide	Each	2	\$115.00	\$230.00	\$105.00	\$210.00	\$63.52	\$127.04	\$137.81	\$275.62	
	Site 17 Simms and Lafayette			<u> </u>					<u> </u>		<u>.</u>	
17.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$138.00	\$1,656.00	\$127.45	\$1,529.40	\$195.75	\$2,349.00	
17.2	Hardwood Mulch – Supply and Install	C.Y.	31	\$45.00	\$1,395.00	\$43.00	\$1,333.00	\$75.00	\$2,325.00	\$167.00	\$5,177.00	
17.3	Hardwood Mulch – Installation Only	C.Y.	31	\$25.00	\$775.00	\$23.00	\$713.00	\$32.00	\$992.00	\$87.00	\$2,697.00	
17.4	Fall Pruning	Lump Sum	1	\$85.00	\$85.00	\$150.00	\$150.00	\$121.38	\$121.38	\$174.00	\$174.00	
17.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$65.00	\$65.00	\$145.66	\$145.66	\$318.00	\$318.00	
17.6	Preemergent Herbicide	Each	2	\$135.00	\$270.00	\$130.00	\$260.00	\$76.87	\$153.74	\$183.75	\$367.50	
	Site 18 Simms and 4th								<u> </u>		<u>.</u>	
18.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$133.00	\$1,596.00	\$121.10	\$1,453.20	\$195.75	\$2,349.00	
18.2	Hardwood Mulch – Supply and Install	C.Y.	30	\$45.00	\$1,350.00	\$43.00	\$1,290.00	\$75.00	\$2,250.00	\$167.00	\$5,010.00	
18.3	Hardwood Mulch – Installation Only	C.Y.	30	\$25.00	\$750.00	\$23.00	\$690.00	\$32.00	\$960.00	\$87.00	\$2,610.00	
18.4	Fall Pruning	Lump Sum	1	\$85.00	\$85.00	\$150.00	\$150.00	\$115.33	\$115.33	\$174.00	\$174.00	
18.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$65.00	\$65.00	\$138.40	\$138.40	\$318.00	\$318.00	
18.6	Preemergent Herbicide	Each	2	\$130.00	\$260.00	\$125.00	\$250.00	\$73.04	\$146.08	\$183.75	\$367.50	
	Site 19 Simms and Pearl											
19.1	General Maintenance Visit	Each	12	\$65.00	\$780.00	\$93.00	\$1,116.00	\$69.72	\$836.64	\$130.50	\$1,566.00	
19.2	Hardwood Mulch – Supply and Install	C.Y.	17	\$45.00	\$765.00	\$43.00	\$731.00	\$75.00	\$1,275.00	\$167.00	\$2,839.00	
19.3	Hardwood Mulch – Installation Only	C.Y.	17	\$25.00	\$425.00	\$23.00	\$391.00	\$32.00	\$544.00	\$87.00	\$1,479.00	
19.4	Fall Pruning	Lump Sum	1	\$50.00	\$50.00	\$150.00	\$150.00	\$66.40	\$66.40	\$108.75	\$108.75	
19.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$40.00	\$40.00	\$79.67	\$79.67	\$198.75	\$198.75	
19.6	Preemergent Herbicide	Each	2	\$75.00	\$150.00	\$70.00	\$140.00	\$42.05	\$84.10	\$91.88	\$183.76	
	Site 21 Marion and Sexton											
21.1	General Maintenance Visit	Each	12	\$110.00	\$1,320.00	\$153.00	\$1,836.00	\$141.67	\$1,700.04	\$195.75	\$2,349.00	
21.2	Hardwood Mulch – Supply and Install	C.Y.	35	\$45.00	\$1,575.00	\$43.00	\$1,505.00	\$75.00	\$2,625.00	\$167.00	\$5,845.00	
21.3	Hardwood Mulch – Installation Only	C.Y.	35	\$25.00	\$875.00	\$23.00	\$805.00	\$32.00	\$1,120.00	\$87.00	\$3,045.00	
21.4	Fall Pruning	Lump Sum	1	\$100.00	\$100.00	\$150.00	\$150.00	\$134.93	\$134.93	\$174.00	\$174.00	
21.5	Imidacloprid Pesticide Treatment	Each	1	\$175.00	\$175.00	\$60.00	\$60.00	\$161.91	\$161.91	\$318.00	\$318.00	
21.6	Preemergent Herbicide	Each	2	\$150.00	\$300.00	\$145.00	\$290.00	\$85.45	\$170.90	\$183.75	\$367.50	

					Engineer's Estimate		Semper Fi Yard Service Inc. 1275 Golfview St. Aurora, IL 60506		Encap, Inc. 2585 Wagner Court Dekalb, IL 60115		Integrated Lakes Management 110 LeBaron St. Waukegan, IL 60085	
#	ITEM	UNIT	QUANTITY	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	
	Site 22 Marion and Lebanon											
22.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$103.00	\$1,236.00	\$72.11	\$865.32	\$130.50	\$1,566.00	
22.2	Hardwood Mulch – Supply and Install	C.Y.	18	\$45.00	\$810.00	\$43.00	\$774.00	\$75.00	\$1,350.00	\$167.00	\$3,006.00	
22.3	Hardwood Mulch – Installation Only	C.Y.	18	\$25.00	\$450.00	\$23.00	\$414.00	\$32.00	\$576.00	\$87.00	\$1,566.00	
22.4	Fall Pruning	Lump Sum	1	\$50.00	\$50.00	\$150.00	\$150.00	\$68.68	\$68.68	\$108.75	\$108.75	
22.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$35.00	\$35.00	\$82.41	\$82.41	\$198.75	\$198.75	
22.6	Preemergent Herbicide	Each	2	\$80.00	\$160.00	\$75.00	\$150.00	\$43.50	\$87.00	\$91.88	\$183.76	
	Site 23 Marion and Lafayette											
23.1	General Maintenance Visit	Each	12	\$75.00	\$900.00	\$113.00	\$1,356.00	\$83.52	\$1,002.24	\$152.25	\$1,827.00	
23.2	Hardwood Mulch – Supply and Install	C.Y.	20	\$45.00	\$900.00	\$43.00	\$860.00	\$75.00	\$1,500.00	\$167.00	\$3,340.00	
23.3	Hardwood Mulch – Installation Only	C.Y.	20	\$25.00	\$500.00	\$23.00	\$460.00	\$32.00	\$640.00	\$87.00	\$1,740.00	
23.4	Fall Pruning	Lump Sum	1	\$60.00	\$60.00	\$150.00	\$150.00	\$79.54	\$79.54	\$130.50	\$130.50	
23.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$35.00	\$35.00	\$95.45	\$95.45	\$238.50	\$238.50	
23.6	Preemergent Herbicide	Each	2	\$85.00	\$170.00	\$83.00	\$166.00	\$50.38	\$100.76	\$122.50	\$245.00	
	Site 24 4 th and Center											
24.1	General Maintenance Visit	Each	12	\$90.00	\$1,080.00	\$128.00	\$1,536.00	\$108.47	\$1,301.64	\$195.75	\$2,349.00	
24.2	Hardwood Mulch – Supply and Install	C.Y.	27	\$45.00	\$1,215.00	\$43.00	\$1.161.00	\$75.00	\$2.025.00	\$167.00	\$4,509.00	
24.3	Hardwood Mulch – Installation Only	C.Y.	27	\$25.00	\$675.00	\$23.00	\$621.00	\$32.00	\$864.00	\$87.00	\$2,349.00	
24.4	Fall Pruning	Lump Sum	1	\$75.00	\$75.00	\$150.00	\$150.00	\$103.31	\$103.31	\$174.00	\$174.00	
24.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$50.00	\$50.00	\$123.97	\$123.97	\$318.00	\$318.00	
24.6	Preemergent Herbicide	Each	2	\$125.00	\$250.00	\$110.00	\$220.00	\$65.43	\$130.86	\$153.13	\$306.26	
	Site 25 4 th and Clark					,	,		,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
25.1	General Maintenance Visit	Each	12	\$115.00	\$1,380.00	\$153.00	\$1,836.00	\$133.46	\$1,601.52	\$195.75	\$2,349.00	
25.2	Hardwood Mulch – Supply and Install	C.Y.	33	\$45.00	\$1,485.00	\$43.00	\$1,419.00	\$75.00	\$2,475.00	\$167.00	\$5.511.00	
25.3	Hardwood Mulch – Installation Only	C.Y.	33	\$25.00	\$825.00	\$23.00	\$759.00	\$32.00	\$1,056.00	\$87.00	\$2,871.00	
25.4	Fall Pruning	Lump Sum	1	\$100.00	\$100.00	\$150.00	\$150.00	\$127.10	\$127.10	\$174.00	\$174.00	
25.5	Imidacloprid Pesticide Treatment	Each	1	\$175.00	\$175.00	\$65.00	\$65.00	\$152.52	\$152.52	\$318.00	\$318.00	
25.6	Preemergent Herbicide	Each	2	\$150.00	\$300.00	\$135.00	\$270.00	\$80.50	\$161.00	\$183.75	\$367.50	
23.0	Site 26 5 th and Clark	Eucii		\$150.00	\$300.00	\$135.00	Ψ270.00	\$60.50	Ģ101.00	Ş103.73	Ç307.30	
26.1	General Maintenance Visit	Each	12	\$85.00	\$1,020.00	\$153.00	\$1,836.00	\$62.30	\$747.60	\$130.50	\$1,566.00	
26.2	Hardwood Mulch – Supply and Install	C.Y.	15	\$45.00	\$675.00	\$43.00	\$1,830.00	\$75.00	\$1,125.00	\$167.00	\$2,505.00	
26.3	Hardwood Mulch – Installation Only	C.Y.	15	\$25.00	\$375.00	\$23.00	\$345.00	\$32.00	\$480.00	\$87.00	\$1,305.00	
26.3	Fall Pruning	Lump Sum	15	\$25.00	\$375.00	\$150.00	\$345.00 \$150.00	\$32.00	\$480.00	\$87.00	\$1,305.00	
26.5	Imidacloprid Pesticide Treatment	Each	1	\$100.00	\$100.00	\$30.00	\$150.00	\$71.20	\$59.33	\$108.75	\$108.75	
26.5	Preemergent Herbicide	Each	2	\$100.00	\$100.00	\$62.00	\$30.00	\$37.58	\$71.20	\$198.75	\$198.75	
20.5		EdCII		0.00 پ	\$14U.UU	302.00	Ş124.UU	35/.58	\$/3.10	\$31.88	\$105./D	
27.4	Site 27 4 th and Benton		40	6445.00	Ć4 200 00	0110.00	Å1 715 00	4440.40	44 400 44	0405.75	42.240.00	
27.1	General Maintenance Visit	Each	12	\$115.00	\$1,380.00	\$143.00	\$1,716.00	\$119.12	\$1,429.44	\$195.75	\$2,349.00	
27.2	Hardwood Mulch – Supply and Install	C.Y.	29	\$45.00	\$1,305.00	\$43.00	\$1,247.00	\$75.00	\$2,175.00	\$167.00	\$4,843.00	
27.3	Hardwood Mulch – Installation Only	C.Y.	29	\$25.00	\$725.00	\$23.00	\$667.00	\$32.00	\$928.00	\$87.00	\$2,523.00	
27.4	Fall Pruning	Lump Sum	1	\$85.00	\$85.00	\$150.00	\$150.00	\$113.45	\$113.45	\$174.00	\$174.00	
27.5	Imidacloprid Pesticide Treatment	Each	1	\$150.00	\$150.00	\$60.00	\$60.00	\$136.14	\$136.14	\$318.00	\$318.00	
27.6	Preemergent Herbicide	Each	2	\$125.00	\$250.00	\$120.00	\$240.00	\$71.85	\$143.70	\$183.75	\$367.50	

				s		•	Fi Yard Service Inc. 5 Golfview St.	Encap, Inc. 2585 Wagner Court		Integrated Lakes Management 110 LeBaron St.	
				Eng	gineer's Estimate	Aurora, IL 60506		Dekalb, IL 60115		Waukegan, IL 60085	
#	ITEM	UNIT	QUANTITY	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total	UNIT PRICE	Total
	Site 28 4 th and Galena										
28.1	General Maintenance Visit	Each	12	\$150.00	\$1,800.00	\$138.00	\$1,656.00	\$70.89	\$850.68	\$130.50	\$1,566.00
28.2	Hardwood Mulch – Supply and Install	C.Y.	18	\$45.00	\$810.00	\$43.00	\$774.00	\$75.00	\$1,350.00	\$167.00	\$3,006.00
28.3	Hardwood Mulch – Installation Only	C.Y.	18	\$25.00	\$450.00	\$23.00	\$414.00	\$32.00	\$576.00	\$87.00	\$1,566.00
28.4	Fall Pruning	Lump Sum	1	\$50.00	\$50.00	\$150.00	\$150.00	\$67.52	\$67.52	\$108.75	\$108.75
28.5	Imidacloprid Pesticide Treatment	Each	1	\$135.00	\$135.00	\$50.00	\$50.00	\$81.02	\$81.02	\$198.75	\$198.75
28.6	Preemergent Herbicide	Each	2	\$85.00	\$170.00	\$75.00	\$150.00	\$42.76	\$85.52	\$91.88	\$183.76
	General										
29.1	Perennial Plants – 2" Plugs	Each	350	\$4.00	\$1,400.00	\$3.25	\$1,137.50	\$3.00	\$1,050.00	\$4.00	\$1,400.00
29.2	Perennial Plants – No. 1 Container	Each	350	\$15.00	\$5,250.00	\$11.75	\$4,112.50	\$15.00	\$5,250.00	\$10.00	\$3,500.00
29.3	Shrubs – No. 3 Container	Each	150	\$45.00	\$6,750.00	\$40.00	\$6,000.00	\$42.50	\$6,375.00	\$12.00	\$1,800.00
29.4	Shrubs – No. 5 Container	Each	50	\$45.00	\$2,250.00	\$40.00	\$2,000.00	\$55.00	\$2,750.00	\$15.00	\$750.00
29.5	Supplemental Watering	Unit	200	\$90.00	\$18,000.00	\$48.00	\$9,600.00	\$65.00	\$13,000.00	\$20.00	\$4,000.00
	Total = \$84,949.00 Tot						\$80,178.00	Total =	\$94,255.00	Total =	\$153,895.20
	Percent Above/Below Engineer's Estimate =								9.87%		44.80%

Note: Red text denotes errors in the submitted schedule of prices